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HPAS (Main)—2012
COMMERCE AND ACCOUNTANCY
Paper I

Time : 3 Hours Maximum Marks * 150

Note :— Attempt Five questions in all. Question No. 1 is

compulsory. All questions carry equal marks,
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1, From the following Trial Balance, prepare Final Accounts

for the year ending 31st March, 2007 :

Trial Balance
Dr. Particulars Amount | Cr. Particulars Amount
(Rupees) (Rupees)
Freehold property 10,800 | Capital 40,000
Sales 80,410

P.T.O.
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Depmauonoanperby 1,200 | Returns outwards 2,520
Insurance . 3,300 | Creditors for
Stock 14,360 | outstanding Expenses} 400
f‘urnituro & Fixtures 1,500 | Discount 150
Returns Inwards l.§90 Trade Creditors 5,700
Offices Expenses 5,100
Purchases 67,3560
Bad Debts 1,310
Carriage outwards 1,690
Carriage Inwards 1,450
Sahriu 4,950
Sundry Debtors 12,070
Cash at Bank 2,610

1,29,180 1,29,180
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Adjustments :

(&)

)

()

)

Write off as future bad debts Ra. 1,000.

Stock at the end of the vear was Rs. 10,700 which

includes Rs. 200 of stationery stock.

Officens expenses include stationery purchased for

Rs. 800. -

Carriage inwards include carriage paid on purchase

of furniture Rs. 50.

Goods of Rs. 1,000 were used for personal purposes
by the proprietor, goods worth Ra. 2,000 were
given away as charity and goods worth Rs. 3,000

were distributed as free samples.
P.T.O.
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() Stock of Rs. 2,600 was destroyed by fire on 20th

March, 2000. It was fully insured but the company

admitted 80% claim.
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What do you understand by consignment business ?
What is the difference between consignment and
B & Wit emiiine; sre: maesd A TEINE et Hliiie

consgignor in this connection 7 15
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On 1st January, 1988, X, Y and Z started business
sharing profit and losses i.n the ratio of 3 : 2 : 1
reaspectively. They contributed Ra, 1,000,000,
Rs. 80,000 and Rs. 40.000 respectively as their
capital which was deposited into bank. Each partner

withdraw Rs. 15,000 during the year. The firm

was dissolved on 31st December, 1988. X took up
P.T.O.
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the stock at an agreed price of Rs. 25,000. Y took
up furniture at Rs. 5,000 and Z took up debtors
at Rs. 18,500. Creditors were paid off and then

remained a balance of Re. 14,000 in the bank

account.

Prepare the necessary accounts to show the
distribution of cash at bank and of the further

cash brought in by of the partners. 15
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“Consumer is the target of all marketing activites,”

Discuss. 15
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“Money spent on advertisement is an investment

or waste." Examine. 15
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@  Calculate mean and standard deviation of the
foll.owing ‘data : 15
Marks No. of Students _
0O—10 5
10—20 : 10
20-—-30 20
30-—40 40
40—50 30
50—860 20
60—70 10

70—80 3
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(L) Fit a straight line trend by the method of least

sgquare and estimate the v‘alue for 2001 : 15
Year Population (in Crores)
1951 34
1961 50
19?1 G7
1981 75.

1991 85

steaqas = = Yy o e TEn 99 (Straight Line
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1951 34
1961 50
1971 67
1981 75

1991 85
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Explain the doctrine of 'Caveat Emptor’ in respect

of Sales of Goods Act. 10
When is a chegue said to be crossed -

() generally and

(&) specifically.

Who may cross it ? What is the effect

of writing ‘not negotiable’ across it ? _ 10

Distinguish between Bailment and Pledge. 10
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® Define Agency. How can an agency be created and

terminated ? Explain with suitable

examples. 15
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(i) What do you mean by the maturity of a negotiable
instrument ? Discuss the rules regarding its

calculations. ' 15
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What is the difference between delegation and
decentralisation 7 Explain the nature of conflict between

line and staff. As a manager, how you improve the line

and staff relationship in a multinational company 7 30
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8. “Today’s financial managers are seized with the problem
of financial distress and are trying to overcome it by

innovative means.” Comment. 30
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